MATH

Multiplication Using
Lattice Method

Work out the answers to these multiplication questions using the
lattice method.

B 86x1 29 X 8 35 X5

36 x 23 60 x 20 B 53x29

52 x 90 B 44 x98 B 54 x49
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B 86x1 29 X 8 35 X5
8 6 2 9 3 5
0.0 1 .77 1 2 .~
ol8l"6lL 2|6l 2|2 1|."5"5[2
8 6 3 2 7 5
86x1= 86 29x 8= 232 35x5= 175
36 X 23 60 x 20 B 53x29
3 6 6 0 5 3
0o |1 .~ 1 .10 7 1 .lo .~
ol-"6l"2l% 120702 1|06l %
0 .1, 0 .10 4 2 .~
898|220 0|lL 5| 57712
2 8 0 0 3 7
36 x 23 = 828 60 x 20 = 1,200 11 x 63 = 1,537
52 x 90 B 44 %98 B 54 x49
5 2 4 4 5 4
4 1 3 7|13 .~ 2 1 7
i /’,,, 5 /,/ 8 2 i /’//l 6 f’,/ 6 2 l f,//, 0 ,’// 6 i
0. 10 .~ 3 .13 13 7
60 0lL 3220212 6| 576|2
8 0 9. B 9 3
52 %X 90 = 4,680 44 x 98 = 4,312 54 x 49 = 2,646



